| | • | |
|---|--|---|
| Fill in this information to | identify the case: | |
| Debtor 1 Stari | ry, Inc | |
| Debtor 2 (Spouse, if filing) | | |
| United States Bankruptcy Cou | int for the: District of Delauare | |
| Case number 23-10 | | · · · · · · · · · · · · · · · · · · · |
| | | r - |
| Official Form 41 | <u>0</u> | |
| Proof of Cla | aim | 04/22 |
| | ore filling out this form. This form is for making a claim for p nt of an administrative expense. Make such a request accor | |
| Filers must leave out or re | dact information that is entitled to privacy on this form or on any claim, such as promissory notes, purchase orders, invoices, iten | attached documents. Attach redacted copies of any |
| | eements. Do not send original documents; they may be destr | |
| · · · · · · · · · · · · · · · · · · · | ent claim could be fined up to \$500,000, imprisoned for up to 5 y | ears, or both. 18 U.S.C. §§ 152, 157, and 3571. |
| Fill in all the information al | bout the claim as of the date the case was filed. That date is | on the notice of bankruptcy (Form 309) that you received. |
| • • | S.C | ; |
| Part 1: Identify the C | laim . I to establish. English is in the control of | |
| Who is the current creditor? | 3Gmetalworx Inc | |
| | Name of the current creditor (the person or entity to be paid for this cla | aim) |
| ά | Other names the creditor used with the debtor | |
| Has this claim been acquired from someone else? | Yes. From whom? | |
| 3. Where should notices and payments to the creditor be sent? | Where should notices to the creditor be sent? | Where should payments to the creditor be sent? (if different) |
| Federal Rule of | 3Gmetalworx Inc. | Name |
| Bankruptcy Procedure (FRBP) 2002(g) | 2790 Shown Blydage san a napabitan co. | d <u></u> |
| | Number Street ended to street or 14K 4A2 | A Number Street |
| | City State Concla ZIP Code | City State ZIP Code |
| | Contact phone 289 1845 13504 in differ up to the | • |
| | Contact email jgroote: @3gmetalwork. | COCShtact email |
| APR 0 5 2023 | | |
| TPLORE GREEN CONTROL | Uniform claim identifier for electronic payments in chapter 13 (if you us | |
| TZMAT CHRONE CONSULTANTS | | |
| 4. Does this claim amend | No | |
| one already filed? | Yes. Claim number on court claims registry (if known) | Filed on |
| 5 Do you know if anyone | 5 | |
| 5. Do you know if anyone else has filed a proof | Yes. Who made the earlier filing? | |
| of claim for this claim? | y in the first of the constitution of the cons | |

and above the weath Proof of Claim a

page 2

Deposits point the relation see 1th know to

| 2. Is all or part of the claim | M No | | | |
|---|--|-----------------------------|--|--|
| entitled to priority under 11 U.S.C. § 507(a)? | Yes. Check one: | Amount entitled to priority | | |
| A claim may be partly priority and partly | Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B). | | | |
| nonpriority. For example, in some categories, the law limits the amount | Up to \$3,350* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7). | | | |
| entitled to priority. | Wages, salaries, or commissions (up to \$15,150*) earned within 180 days before the bankruptcy petition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4). | \$ | | |
| | Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8). | \$ | | |
| | ☐ Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5). | \$ | | |
| | Other. Specify subsection of 11 U.S.C. § 507(a)() that applies. | \$ | | |
| | * Amounts are subject to adjustment on 4/01/25 and every 3 years after that for cases begun on or after | er the date of adjustment. | | |
| art 3: Sign Below | | | | |
| ne person completing is proof of claim must | Check the appropriate box: | | | |
| gn and date it. | I am the creditor. | | | |
| RBP 9011(b). | lam the creditor's attorney or authorized agent. | | | |
| you file this claim ectronically, FRBP | I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004. | | | |
| 005(a)(2) authorizes courts establish local rules | I am a guarantor, surety, endorser, or other codebtor. Bankruptcy Rule 3005. | , | | |
| ecifying what a signature | Conference (1997) (1997 | that when calculating the | | |
| naraon who files a | amount of the claim, the creditor gave the debtor credit for any payments received toward the description of the claim, the creditor gave the debtor credit for any payments received toward the description of the claim, the creditor gave the debtor credit for any payments received toward the debtor credit for any payments received to the debtor cre | ebt. | | |
| person who files a audulent claim could be | I have examined the information in this <i>Proof of Claim</i> and have a reasonable belief that the info | ormation is true | | |
| ned up to \$500,000, nprisoned for up to 5 | and correct, that is tacked on a marks foot out it 0 (b) 1801 (section) is 1000 (c) | | | |
| ears, or both. | I declare under penalty of perjury that the foregoing is true and correct. | | | |
| 8 U.Ś.C. §§ 152, 157, and 571. | indeplate under perialty or perjory that the foregoing is true and correct. Independent or region of perjors of the first | | | |
| 97 I. | Executed on date 0.3243003 . | | | |
| | The second of MMC of Parting MATE and the following that the first of | | | |
| | A TO THE STATE OF THE STATE OF | | | |
| | XXXXX XXXXX | | | |
| | Signature | | | |
| | Print the name of the person who is completing and signing this claim: | · · | | |
| | Name Joan Koren Groote First hame Middle name Last name | · . | | |
| : | in the state of th | : | | |
| | Title ACMINISTRATION | | | |
| | Identify the corporate servicer as the company if the authorized agent is a servicer. | | | |
| DEPENDEN | ្រុម ប្រទេស ខេត្ត ប្រើបើក្រុមក្រុម គ្រឹងប្រធាតុ សមារាធាតុ សមារាធិប្បធានប្រើប្រើប្រឹក្សា ប្រើប្រឹក្សា ប្រឹក្សា ប | | | |
| WITHINGS | Address 2-90 Snow Blyd. | · | | |
| ልማጭ ለ ፎ ባበባባ | Number Street sight for the first of the second of the sec | | | |
| APR 0 5 2023 | Concord, Ontario L4K4A | 12 Canada | | |
| natuonaa marahanningan | The production of City in Contract to the Artificial Contract Cont | 32 11 | | |
| inithin physik princhth | Contact phone 289-845-3504 Email 19 roote | 23gmetalworx | | |
| | The second of the purpose of the control of the second of | | | |
| | Charles the make and the more than the more | | | |
| | And the state of the control of the | | | |
| Official Form 410 | Proof of Claim | page 3 | | |

And the second production of



3Gmetalworx Inc.

2 - 90 SNOW BOULEVARD CONCORD ON L4K 4A2 CANADA Tel: (289) 845-3500 Fax: (289) 845-3501 Invoice No: 60641
Client P.O. Number: PO33476
3G Order Number: 221723
3G Packing Slip No: 48610

Sold To:

STARRY, INC.

ATTENTION: ACCOUNTS PAYABLE

38 CHAUNCY STREET

2ND FLOOR

BOSTON

MA

United States

02111

Shipped To:

Benchmark Electronics (Thailan 94 Moo 1, Hi-Tech Industrial E Bang PA-IN, Phra Nakhon Si Ayutthaya Ayutthaya

Thailand

13160

| Order | Date Ship Date Invoice | Date Buyer F. | O.B. Terms | Currency | P.S | T. No. | G.S.T. No. |
|--------|-------------------------|-------------------------|-------------------|------------|--------------|------------|--------------|
| 8/31/2 | 2022 10/14/2022 10/14/2 | 2022 Phra Nakhon Si 3GM | IETAL NET 30 DAYS | US Fund | s 🌅 | | i39170336 RT |
| Line | Del Part Number | Description | Reqd Qty | B/O Qty Sh | nip Qty Unit | Unit Price | Extended |
| 01 | 01 550-02304 | SWIPE SHIELD FRAME | 110 | 0 | 110 EA | 8.700 | 957.000 |
| 02 | 01. 550-02305 | SWIPE SHIELD FRAME | 110 | 0 | 110 EA | 7.190 | 790.900 |
| 03 | 01 550-02306 | SWIPE SHIELD COVER | 110 | 0 | 110 EA | 2.880 | 316.800: |
| 04 | 01 550-02307 | SWIPE SHIELD FRAME | 110 | 0 | 110 EA | 7.910 | 870.100 |
| 05 | 01 550-02308 | SWIPE SHIELD COVER | 110 | 0. | 110 EA | 3.160 | 347.600 |
| 06 | 01: 550-02309 | SWIPE SHIELD FRAME | 110 | 0 | 110 EA | 9.610 | 1,057.100 |
| 07 | 01 550-02310 | SWIPE SHIELD COVER | 110 | Ö | 110 ÆA | 4.270 | 469.700 |
| 08 | 015 550-02311 | SWIPE SHIELD FRAME | 110 | Ó | 110 EA | 10.950 | 1,204.500 |
| 09 | 01 550-02312 | SWIPE SHIELD COVER | 110 | 0 | 110 EA | 4.870 | 535.700 |
| 10 | 01 550-02313 | SWIRE SHIELD FRAME | 110 | Ö | 110 EA | 6.780 | 745.800 |
| 11 | 01 550-02314 | SWIPE SHIELD COVER | 250 | 0 | 250 EA | 1.740 | 435.000 |

Net Total: 1,730.20

Total Invoice Amount:

7,730.20



3Gmetalworx Inc. 90 SNOW BOULEVARD CONCORD ON L4K 4A2 CANADA

Packing Slip No:

48610

Your P.O. Number: 3G Order Number: PO33476 221723

Sold To:

STARRY, INC. 38 CHAUNCY STREET 2ND FLOOR

BOSTON

United States

Ship To:

Benchmark Electronics (Thailan

Phra Nakhon Si

94 Moo 1, Hi-Tech Industrial E

Bang PA-IN, Phra Nakhon Si

Ayutthaya Ayutthaya

Thailand

MA

02111

13160

| FOB: 3GMETAL Ship Via: | DHL-EX Waybill No: 4959907326 | Ship [| Date: 🖏 📗 | 14-Oct-22 |
|-----------------------------------|-------------------------------|-----------|-----------|--------------|
| Item Line Del Part Number MPN | REV Description | Order Qty | Ship Qty | ੂੰ.∕Bੈ/O Qty |
| 1 01 01 550-02304 4496-011-11 | O SWIPE SHIELD FRAME. | 110 | 110 | 0 |
| 2 02 01 550-02305 4496-001-11 | O SWIPE SHIELD FRAME O | 110 | 110 | 0 |
| 3 03 01 550-02306 4496-002-11 | 0 SWIPE SHIELD COVER 0 | 110 | 110 | 0 |
| 4 04 01 550-02307 4496-003-11 | O SWIPE SHIELD FRAME O | 110 | 110 | 0 |
| 5 05 01 550-02308 4496-004-11 | O SWIPE SHIELD COVER O | 110 | 110 | 0 |
| 6 06 01 550-02309 4496-005-11 | O SWIPE SHIELD FRAME | 110 | 110 | 0 |
| 7 01 550-02310 4496-006-11 | O SWIPE SHIELD COVER 0 | ,110 | 110 | . 0 |
| 8 08 01 550-02311 4496-007-11 | O SWIRE SHIELD FRAME O | 110 | 110 | 0 |
| 9 09 01 550-02312 4496-008-11 | O SWIPE SHIELD COVER | 110 | 110 | 0 |
| 10 10 01 550-02313 4496-009-11 | O SWIPE SHIELD FRAME O | 110 | 110 | 0 |
| 11 01 550-02314 4496-010-11 | 0 SWIPE SHIELD COVER 0 | 250 | 250 | 0 |
| • | | | | |

To report any problem with your shipment, please call 1-888-965-3634.

1 Lb:

SR-126: Packing Slip v1.0

35 Kg:

15.8 Packed by:

0 No of cartons:

No of skids:



Starry, Inc 38 Chauncy Street 2nd Floor Boston MA 02111 United States

Purchase Order

#PO33476

375/2022

3Gmetalworx Inc 2-90 Snow Blvd Concord ON L4K 4A2 Canada Benchmark Electronics (Thalland) Public Company Limited 94 Moo 1, Hi-Toch Industrial Estate BANG PA-IN, Phra Nakhon Si Ayutthaya Ayutthaya 13160 Thalland

| | Requester Name | | Ship Via: | | | |
|-----------------|---|-----------------------------|------------------|---|----------------------|-------------------------|
| Sarah Tesciotti | | DHL Express Worldwide #9685 | 88830 | | | |
| City | Hem | Vendor Code | Req Receipt Date | | Rate | Amount |
| 110 | 550-02304 MODEM-PAAM CONNECTOR EMICAN, SHOTPUT 2 0 | | 9/16/2022 | | se 70 € ⁷ | \$28.7.0 0 |
| 110 | 550-02305 MODEM 80MHZ REF EMI CAN, SHOTPUT 2 0 | | 9/16/2022 | | \$7.9 V | 1 93 90 |
| 110 | 550-02306 MODEM 80MHZ REF EMI CAN CAP. SHOTPUT 2.0 | | 9/16/2022 | | 12 8B V | ६ ११ ६ तं |
| 110 | 550-02307 MODEM 120MHZ REF EMI CAN, SHOTPUT 2:0 | | 9/16/2022 | | \$7.90 0 | 5970 f 0 |
| 110 | 550-02308 MODEM 120MHZ REF EMI CAN CAP, SHOTPUT 2.0 | | 9/16/2022 | | 83.0 JA | 1347.60 |
| 110 | 550-02309 MODEM PRIMARY RADIO RFIC EMI CAN, SHOTPUT 2 0 | | 9/16/2022 | | \$3,61 | 11 367 10 |
| 110 | 550-02310 MODEM PRIMARY RADIO RFIC EMI CAN CAP, SHOTPUT 2.0 | | 9/16/2022 | | \$4.27 / | \$466-76 |
| 110 | 550-02311 MODEM CPU EMI CAN, SHOTPUT 2.0 | | 9/16/2022 | | \$10.96 | 11 204 50 |
| 110 | 550-02312 MODEM CPU EMICAN CAP, SHOTPUT 2.0 | | 9/16/2022 | | \$4.67 | £5.25 TC |
| 110 | 550-02313 MODEM FAILOVER RADIO EMI CAN, SHOTPUT 2 0 | | 9/16/2022 | | 16 78 LAND | 1746 BC |
| 250 | 550-02314 MODEM FAILOVER RADIO EMI CAN CAP, SHOTPUT 2:0 | | 9/16/2022 | • | \$1.14 W | 2 foc 00 |
| | _ | | | <u>, </u> | Fotal | 11 30 20 |

Ship To

Ship Via:

Notes To Vendor.

Ending order Schol To Ships 10/4/2022

Net 30

Please send Invoices to invoice@starry.com Please direct payment inquines and any other questions to AP@starry.com Dis Amo 31.22